

rowen: $A \cdot x = b$

↑ \uparrow \uparrow
 matrix $m \times n$ n m

$A \cdot (ax) = a \cdot (A \cdot x) = 0$

proj. \mathbb{R}^2

$V = \mathbb{R}^2$
 $V = \text{plane } P$
 $0 \in P$
 $V = \{0\}$

10 22-16:07

\mathbb{R}^3

$n_3 = v_1 + v_2$

n_1, \dots, n_i normal

$0 = a_1 v_1 + \dots + a_i v_i + \dots + a_n v_n$

$a_i v_i = -a_1 v_1 - \dots - a_n v_n$

$(a_i \cdot v_i) = -\frac{a_1}{a_i} v_1 - \dots - \frac{a_n}{a_i} v_n$

$v_i = \dots$

10 22-16:17

$\mathbb{R}_3[x] = \{ a_3 x^3 + a_2 x^2 + a_1 x + a_0 \} \cong \mathbb{R}^4$

$M \subset V$

$\bigcup_{i \in \mathbb{R}} W_i \subset V, W_i \subset M$

basix \mathbb{R}^n : $\begin{pmatrix} 1 \\ 0 \\ \vdots \\ 0 \end{pmatrix} \begin{pmatrix} 0 \\ 1 \\ \vdots \\ 0 \end{pmatrix} \dots \begin{pmatrix} 0 \\ 0 \\ \vdots \\ 1 \end{pmatrix}$ standard

e_1, e_2, \dots, e_n

10 22-16:27

Standard basis $\mathbb{R}_n(x)$: $1, x, x^2, \dots, x^n$

$a_0 = 1$
 $a_1 = 0$
 $r > 0$

$v = x_1 e_1 + x_2 e_2 + \dots + x_n e_n$

$\begin{pmatrix} x_1 \\ \vdots \\ x_n \end{pmatrix} = x_1 \begin{pmatrix} 1 \\ 0 \\ \vdots \\ 0 \end{pmatrix} + x_2 \begin{pmatrix} 0 \\ 1 \\ \vdots \\ 0 \end{pmatrix} + \dots$

10 22-16:42

$v_1 = \begin{pmatrix} 1 \\ 0 \\ \vdots \\ 0 \end{pmatrix} v_2 = \begin{pmatrix} 1 \\ 0 \\ \vdots \\ 0 \end{pmatrix}$

$v_{n-1} = \begin{pmatrix} 1 \\ \vdots \\ 1 \\ 0 \end{pmatrix} v_n = \begin{pmatrix} 1 \\ \vdots \\ 1 \\ 1 \end{pmatrix}$

$v_1 = \begin{pmatrix} 1 \\ 0 \\ \vdots \\ 0 \end{pmatrix} v_2 = \begin{pmatrix} 1 \\ 1 \\ \vdots \\ 0 \end{pmatrix} v_3 = \begin{pmatrix} 1 \\ 1 \\ \vdots \\ 1 \end{pmatrix}$

$v: \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} = x_1 v_1 + (x_2 - x_1) v_2 + x_3 v_3$

$u = a_1 v_1 + \dots + a_n v_n$
 $w = a'_1 v_1 + \dots + a'_n v_n$

10 22-16:48

$u = \begin{pmatrix} a_{11} \\ a_{12} \\ \vdots \\ a_{1n} \end{pmatrix} e_1 = \begin{pmatrix} e_{11} \\ e_{21} \\ \vdots \\ e_{n1} \end{pmatrix} e_2 = \begin{pmatrix} e_{12} \\ e_{22} \\ \vdots \\ e_{n2} \end{pmatrix} \dots$

$x_1 e_1 + x_2 e_2 + \dots = \begin{pmatrix} a_{11} \\ a_{12} \\ \vdots \\ a_{1n} \end{pmatrix}$

$u_1 \sim \begin{pmatrix} 1 \\ \vdots \\ 0 \end{pmatrix} \mapsto f(u_1) \sim \begin{pmatrix} a_{11} \\ a_{21} \\ \vdots \\ a_{n1} \end{pmatrix}$

$u_2 \sim \begin{pmatrix} 0 \\ \vdots \\ 1 \end{pmatrix} \mapsto f(u_2) \sim \begin{pmatrix} a_{12} \\ a_{22} \\ \vdots \\ a_{n2} \end{pmatrix}$

$x_1 u_1 + \dots + x_n u_n \mapsto x_1 \begin{pmatrix} a_{11} \\ \vdots \\ a_{n1} \end{pmatrix} + x_2 \begin{pmatrix} a_{12} \\ \vdots \\ a_{n2} \end{pmatrix} + \dots$

10 22-17:08

$$\begin{pmatrix} a_{11} & a_{12} & \dots & a_{1n} \\ a_{21} & a_{22} & \dots & a_{2n} \\ \vdots & \vdots & \ddots & \vdots \\ a_{m1} & a_{m2} & \dots & a_{mn} \end{pmatrix} \cdot \begin{pmatrix} x_1 \\ x_2 \\ \vdots \\ x_n \end{pmatrix}$$

dang bingung ultra?
 metode sd. f
 v basis u, v
 $x' = T \cdot x \quad | \cdot T^{-1}$
 $T^{-1} \cdot x' = x$

10 22-17:17

$e_1 = \begin{pmatrix} 1 \\ 0 \\ \vdots \\ 0 \end{pmatrix}, e_2 = \begin{pmatrix} 0 \\ 1 \\ \vdots \\ 0 \end{pmatrix}, \dots$
 $e_i \cdot e_j = \langle e_i, e_j \rangle = \begin{cases} 1 & i=j \\ 0 & i \neq j \end{cases}$ orthonormal basis \mathbb{R}^n
 orthonormal basis

$(u, v) \mapsto \langle u, v \rangle$
 koordinat u ✓
 koordinat v ✓
 hasil kali ✓

$(x_1, \dots, x_n) - (y_1, \dots, y_n)$
 $= x_1 e_1 + \dots + x_n e_n - (y_1 e_1 + \dots + y_n e_n)$
 $\|v\|^2 = x_1^2 + \dots + x_n^2$

10 22-17:23

koordinat pada $x = (y_1, \dots, y_n), u = (x_1, \dots, x_n)$
 $\alpha(u) = (y_1, y_2, \dots, y_n) \cdot \begin{pmatrix} x_1 \\ x_2 \\ \vdots \\ x_n \end{pmatrix}$

(V, \langle, \rangle) pada \mathbb{R}^n hasil kali
 vektor (\mathbb{R}^n, \cdot) ✓

10 22-17:30

$(e_1, \dots, e_n) = \underline{e}$ orthonormal
 $\langle x_1 e_1 + \dots + x_n e_n, y_1 e_1 + \dots + y_n e_n \rangle =$
 $x_1 \langle e_1, y_1 e_1 + \dots + y_n e_n \rangle + x_2 \langle e_2, y_1 e_1 + \dots + y_n e_n \rangle + \dots =$
 $x_1 y_1 \langle e_1, e_1 \rangle + x_1 y_2 \langle e_1, e_2 \rangle + \dots = \sum_{i,j=1}^n x_i y_j \langle e_i, e_j \rangle$
 $= \sum_{i=1}^n x_i y_i = x^T \cdot y$
 $= x^T \cdot S \cdot y$
 $S = (e_i, e_j)$

10 22-17:39

$v_1 = e_1$
 $e_1 = v_1$
 $e_2 = v_2 + a \cdot e_1$

$D = e_1 \cdot e_2 = e_1 \cdot v_2 + a \cdot \|e_1\|^2$
 $\Rightarrow a = -\frac{e_1 \cdot v_2}{\|e_1\|^2}$

hasil kali

10 22-17:43

(Empty box)

10 22-17:50